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I a),¢) Given €>0, choose S§= %  then IX-41<8,xy71

= {0 - )] = | ‘; ,(Hi)z(;?)
x—)?ﬁaf“ 4l = l"’r;‘@HX—gl <2-f.g

= fX is u.mformg coniwwous oh both [1,3] and
[( ©w)

) Not u.m{iorm\y confinuous ©  Let (Kn)=( -'h-) and
(3 )=(5) . Then lcm(xh -Un) =0, yet
| {kw - {(30[ =4

2. Given £20 y qhoosc § = E/H . Then lx-al {§ =9
L) - £yl < Mix-yl <« N.§=¢,

| w = Suppose g K- R is continuous.
Let 0 be an open set, consider g7'(0) amnd

assume 97(0) ¢, Lot ¢ e 37'(0), thuw
| gae 0. Sine 0 is open . 3 £70 such +hat (/ag_(f)).ft
o [ Sina g is contimeous 3 Vs (¢) with £ Ve (3a)

de v ce97(0) 3 Vsce) < 97'(0) , so 27'(9),
on 3 § OQ J (0) i's




& Suppose G R-=R has a' s Fhat 97 (0
13 OPeI;F —PorJ each. open 0, Proper’(y ’ é} /

Let ¢ e [R be aréii’mg omd pven ary €70
the set Ve (4()) s %Dpen  Gmd & the et

{7V, ($(0) 1s also open amd condains C.
Thus 3§ s.4. Vg(d) ggf‘i(Vg({(‘d),zﬁ‘e.
{(Vs(0)) € Ve ((0) and £ is confriudus
at ¢ by def 42,18




